S CONTIMAC

e qu i pmen't

Spareparts

STOFAFZUIGINGSMACHINE SPA 2003 CE
ASPIRATEURS DE COPEAUX SPA 2003

Bestelnr./N° de cde. 12020

www.contimac.be



SPA 2003




ITEM DESCRIPTION SIZE Q'TY
1 bag hanger 71/2“*1.Onnn *950mm 1
L bag suppoil 7/8" *¥1.2mm *865min 2
3 filter bag 1520n*100cn1 1
4 |collecter bag 152cm*80cm ‘I"
5 |support insert 1
6 base plate 20 .54 31 .51 5" 1
7 |caster 2"Qp 4
8 |collector 1
9 |collector body 6.5*8"*hH" 1
10 [connector 1
11 |gasket 8 *6.5" 2
12 [inlet 5" 1
13 [inlet cover 5@ 1
14 |gasket 1
15 |[fan 1
16 |motor 2HP 1
17 |key 1
18 |switch 1
19 |washer 5/16" 32
20 |screw 5716"*1)2" 20
21 |[screw 3/16"*3/8"*1" 1
22 |screw 5/16"*%1" 4
23 |[screw 5/16"*3/4" 4
24 |screw 1/4"%1" 1
25 |screw 1/4"*3/8" 12
26 |nut 516" 20
27 |spring washer 5/16" 4
28 |spring washer 5/ 16" 1

N
O

rencle




